2011 Food Technology

Question 14

Food manufacturers are most likely to use manual labour in their production systems

when

A X small scale production runs are needed.
B X there is a need to reduce operating costs in the short term.

C X large volumes need to be produced in a short period of time.
D « automated production systems cannot meet production requirements.

HSC Statistics on this Question:

% Students with Answer

Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

A 19%
B 19%
C 22%
D 39%
N 0%

................................................................................................................................

................................................................................................................................

................................................................................................................................

...............................................................................

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA

............................

Band 1/2

32% 46%
16% 9%
8% 5%
45% 40%
0% 0%

Band 2/3
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1%
41%
0%

Band 3/4
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47%
0%
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Band 5/6

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, Cand D. N is
used to identify: No valid response.
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